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On Absolute Convergence of Bernstein Polynomials 3
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Abstract　This note is devoted to the study of the absolute convergence of Bernstein polynomials. It is proved

that for each x ∈[0 ,1 ] , the sequence of the Bernstein polynomials of a function of bounded variation is abso2
lutely summable by | C ,1| method. Moreover , the estimate of the remainders of the | C , 1| sum of the se2
quence of the Bernstein polynomials is obtained.
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The Bernstein polynomials B n ( f ; x ) of a function f defined on [0 ,1 ] are

B n ( f ; x ) = ∑
n

j = 0
f ( j

n
) pn , j ( x ) , 　pn , j ( x ) =

n
jr nst

x j (1 - x ) n - j .

A classical result is that if f is of bounded variation on [0 ,1 ] , then for each x in (0 ,1) , lim n→∞B n

( f ; x ) =
1
2

( f ( x + 0) + f ( x - 0) ) . A quantitative eastimate was proved by Cheng[1 ] and refined by

Chen and Guo [2 ] . Meanwhile , it is well known that the sequence { B n ( f ; x ) } of Bernstein polynomi2
als is monotonic with respect to n whenever f is a convex function , that means B n ( f ; x ) ≤ B n - 1 ( f ;

x ) , so that { B n ( f ; x ) } is absolutely convergent , namely

∑
∞

n = 2
| B n - 1 ( f ; x ) - B n ( f ; x ) | < ∞ (1)

holds at x where B n ( f ; x ) converges. In addition , we have the following simple conclusion.

Proposition　If f ∈C1 [0 ,1 ] and ∑ n - 1ω( f′, n - 1) < ∞, then { B n ( f ; x ) } is absol utely conver2
gent f or each x ∈[0 ,1 ].

Proof 　An elementary computation shows that

　　B n - 1 ( f ; x ) - B n ( f ; x ) = ∑
n - 1

j = 1

[
j
n

f (
j - 1
n - 1

) - f (
j
n

) + (1 -
j
n

) f (
j

n - 1
) ] pn , j ( x )

3 Received April 9 , 1996. Supported by the National Science Foundation of Beijing.

—743—

© 1995-2005 Tsinghua Tongfang Optical Disc Co., Ltd.   All rights reserved.



　　　　 = ∑
n - 1

j = 1
[

j
n∫

j
n

j - 1
n - 1

( f′( j
n

) - f′( t) ) dt + (1 -
j
n

)∫
j

n - 1

j
n

( f′( t) - f′( j
n

) ) dt ] pn , j ( x )

Φ ∑
n - 1

j = 1

j ( n - j)

n2 ( n - 1)
[ω( f′; n - j

n ( n - 1) )
+ω( f′; j

n ( n - 1)
) ] pn , j ( x )

≤2 n - 1ω( f′; n - 1) ∑
n - 1

j = 1

pn , j ( x ) ≤2 n - 1ω( f′; n - 1)

which proves (1) under the condition that ∑ n - 1ω( f′; n - 1) ≤∞. 　□

It is impossible to convince that (1) holds for general functions , even for that of bounded varia2
tion. However , it is meaningful to consider the absolute summability of Bernstein polynomials in some

weaker sense , for example , the | C ,1| summability. In fact , we shall give an estimate for the remain2
ders of the | C ,1| sums of the Bernstein polynomials of functions of bounded variation.

Theorem　L et f be of bounded variation on [0 ,1 ]. Then f or each x ∈[0 , 1 ] , { B n ( f ; x ) } is abso2
l utely sum m able by the Cesáro method | C ,1| of order 1 . Moreover , f or x ∈(0 ,1)

R n ( f , x ) ≤M ( x) {
1
n ∑

n

k = 1
V ( gx) x + (1 - x ) / k

x - x / k
log (2 +

n
k

)

+
| f ( x + 0) - f ( x ) | +| f ( x - 0) - f ( x ) |

n
} , (2)

where

R n ( f ; x ) = ∑
∞

m = n

| σm - 1 ( f ; x ) - σm ( f ; x ) | ,

σm ( f ; x ) =
1
m ∑

m

k = 1
B k ( f ; x ) ,

gx ( t) =

f ( t) - f ( x + 0) , t > x ;

0 , 　　　　　　　t = x ;

f ( t) - f ( x - 0) , t < x ,　 　　 　　 　　 　　 　　 　　 　　 　　 　　 　　 　　 　　 　　 　　　　 　　　　 　　　　 　　 　　　 　　　 　　　 　　　　 　　　 　　　　　 　　 　　 　　 　　　　　 　　　　　 　　 　　 　　 　　 　　　　 　　　　 　　　 　　 　　　 　　　 　　　 　　　 　 　　　 　 　　　 　 　　 　　 　　 　　　 　 　　 　　 　　
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Set

Kn ( x , t) =
　∑v ≤ t n

pn , v ( x ) , 0 < t ≤1 ;

　0 , 　　　　　　　t = 0 ,

　　 　　 　　　 　　　　 　　　 　　　　　 　　　 　　　 　　　 　　　　 　　　　 　　　　 　　　 　　　 　　　　　　 　　　　 　　　 　　　　 　　　 　　　　 　　 　　 　　　 　　　　 　　　 　　　　 　　　 　　　　 　　　 　　　　 　　 　　　 　　　　　　 　　 　　 　　　 　　　　 　　　　 　　　 　　　　 　　　 　　　　　 　　 　　　 　　　　　　 　　　 　　　 　　　　　 　　　 　　　　 　　　 　　　 　　　 　　　 　　　　 　　　 　　　　 　　 　　 　　 　　　 　　　　 　　　　 　　　 　　　 　　 　　　　 　　　 　　　　 　　 　　 　　　 　　　　 　　　 　　 　　　 　　　 　　 　　　　 　　　 　　　　 　　 　　　 　　　　 　　　 　　　　 　　 　　 　　 　　　 　　　　　 　　　　 　　 　　　 　　　 　　 　　 　　　 　　 　　 　　　　 　　 　　　　 　　　　 繲　 　　 　　　　 　　　 　　　　 　　　 　　　　　　　　　 　　　　　 　　　　 　　 　　　 　　　 　　　　 　　　　 　　　 　　　 　　　　　　　　　 　　　　　 　　　　 　　 　　　 　　　　 　　　 　　　　 　　 　　 　　　　　　 　　　 　　　　 　　　　 　　　　 　　 　　 　　　　　　 　　　　 　　　 　　　　 　　 　　　 　　　　　　 　　 　　 　　　 　　 　　 　　　 　　 　　 　　　　 　　 　　　　 　　　　 　　　　　 　　　　 　　　　 　　　　 　　 　　　　 　　　　 　　　　 　　 　　　 　　　 　　　　 　　　 　 　　　　　 　　　 　　　 　　　　 　　　　　　 　　 　　　 　　　　 　　　 　　　 　　　 　　　　　 　　 　　　 　　　　　 　　　　 　　　 　　　 　　　　 　　　 　　　　　 　　 　　　 　　　 　　　　 　　　　　　 　　 　　　　 　　　 　　　 　　　　　 　　 　　　 　　　　　 　　　　 　　 　　　 　　　　　 　　 　　 　　　 　 　　　 　 　　 　　 　　　 　　 　　　 　　　 　　　 　　　 　　　 　　 　　 　 　　　 　　 　　　 　　
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Proof of the Theorem　If x = 0 or 1 , (2) is obvious since B n ( f ;0) = f (0) and B n ( f ;1) = f (1) . For

a fixed x ∈(0 ,1) , writting

f ( t) - f ( x ) = gx ( t) + ( f ( x + 0) - f ( x ) ) ( t - x ) 0
+ + ( f ( x - 0) - f ( x ) ) ( x - t) 0

+ ,

where ( u) 0
+ = 1 if u > 0 and ( u) 0

+ = 0 if u ≤0 , we have

R n ( f ; x ) ≤ R n ( gx , x ) +| f ( x + 0) - f ( x ) | R n ( (·- x ) 0
+ ; x )

+| f ( x - 0) - f ( x ) | R n ( ( x - ·) 0
+ ; x ) .

It follows from (3) and (4) that

R n ( ( x - ·) 0
+ ; x ) = ∑

∞

m = n

1
m ( m - 1)

| mB m ( ( x - ·) 0
+ ; x ) - ∑

m

ν= 1
Bν( ( x - ·) 0

+ ; x ) |

= ∑
∞

m = n

1
m ( m - 1)

| m ∑
k < mx

pm , k ( x ) - ∑
m

ν= 1
∑

k <νx
pν, k ( x ) |

= ∑
∞

m = n

1
m ( m - 1) | m (

1
2

+ O x ( m - 1/ 2) ) - ∑
m

ν= 1

(
1
2

+ O x (ν- 1/ 2) ) |

= O x (∑
∞

m = n

m - 3/ 2) = O x ( n - 1/ 2) ,

and by the same way , R n ( (·- x) 0
+ ; x ) = O x ( n - 1/ 2) .

Writting

R n ( gx ; x ) =∫
1

0
gx ( t) d t Kn ( x , t) , (5)

if follows that

R n ( gx ; x ) = ∑
∞

m = n

1
m ( m - 1) | mB m ( gx ; x ) - ∑

m

ν= 1
Bν( gx ; x ) |

= ∑
∞

m = n

1
m ( m - 1)

|∫
1

0
gx ( t) d tA m ( x , t) | .

With a special understand to the integration of the Lebesgue - Stieltjes“type”and after integration by

parts , we find that

R n ( gx ; x ) = ∑
∞

m = n

1
m ( m - 1)

|∫
1

0
A m ( x , t) dgx ( t) | ≤∫

1

0∑
∞

m = n

| A m ( x , t) |

m ( m - 1)
| dgx ( t) | . (6)

Making use of the lemma , we have

∑
∞

m = n

| A m ( x , t) |

m ( m - 1)
≤2 ∑

m ≤| x - t|
- 2

m - 2 [| A m ( x , x ) | +| A m ( x , t) - A m ( x , x ) | ]

+ 2 ∑
m > | x - t|

- 2

m - 2 | A m ( x , t) |

= O x{ ∑
m ≤| x - t|

- 2

m - 2 ( m 1/ 2 + m 3/ 2 | x - t | ) + ∑
m > | x - t|

- 2

log ( m | x - t | 2 + 2)

m 2 | x - t | 2 }

= O x (1) , 　uniformly for t ∈[0 ,1 ] , t ≠x ,
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∑
∞

m = n

| A m ( x , x ) |

m ( m - 1) = O x{ ∑
∞

m = n

m - 3/ 2} = O x ( n - 1/ 2)

and

∑
∞

m = n

| A m ( x , t) |

m ( m - 1) = O x{ ∑
∞

m = n

log ( m | x - t | 2 + 2)

m 2 | x - t | 2

= O x{
log ( n | x - t | 2 + 2)

n | x - t | 2 , 　uniformly for t ∈[0 ,1 ] , t ≠x.

Substituting these into (6) and integrating by parts , it follows that

　　 R n ( gx ; x ) = O x{∫
x -

x

n

0

log ( n ( x - t) 2 + 2)

n ( x - t) 2 d ( - V ( gx)
x

t
) +∫

x +
1 - x

n

x -
x

n

| dgx ( t) |

+∫
1

x +
1 - x

n

log ( n ( t - x ) 2 + 2)

n ( t - x ) 2 d ( V ( gx)
t

x
) }

　　 = O x{
1
n

V ( gx)
x

0
+ {∫

x -
x

n

0

log ( n ( x - t) 2 + 2)

n ( t - x ) 2 V ( gx)
x

t
dt + V ( gx)

x +
1 - x

n

x -
x

n

+
1
n

V ( gx)
1

x
+∫

1

x +
1 - x

n

log ( n ( t - x ) 2 + 2)

n ( t - x ) 2 V ( gx)
t

x
dt} .

Taking the substitutions t = x -
x

n
and t = x +

1 - x

n
in the integrals ∫x - x/ n

0 and ∫1
x + (1 - x) / n re2

spectively , we get

R n ( gx ; x ) = O x{
1
n

V ( gx)
1

0
+ V ( gx)

x +
1 - x

u

x -
x

u

+
1
n∫

n

1
V ( gx)

x +
1 - x

u

x -
x

u

log (2 +
n
u

) du}

= O x{
1
n ∑

n

k = 1
V ( gx)

x +
1 - x

k

x -
x

k

log (2 +
n
k

) } .

This completes the proof of the theorem. 　□

Now we give an explanation to the Lebesgue - Stieltjes integral in (5) , which makes the compu2

tations in proving the theorem reasonable. For u∈(0 ,1) ,

∫
u

u -
gx ( t) d t Kn ( x , t) =∫

u +

u -
gx ( t) d t Kn ( x , t) = gx ( u) ( Kn ( x , u) - Kn ( x , u - ) ) ,

∫
1

1 -
gx ( t) d t Kn ( x , t) = gx (1) pn , n ( x) ,∫

0 +

0
gx ( t) d t Kn ( x , t) = gx (0) pn ,0 ( x ) ,

∫
u

u -
Kn ( x , t) dgx ( t) = Kn ( x , u - ) ( gx ( u) - gx ( u - ) ) ,

∫
0 +

0
Kn ( x , t) dgx ( t) = pn ,0 ( x ) ( gx (0 +) - gx (0) ) .
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Remark　It is interesting to compare the nature of the absolute summability of Bernstein polynomials

with that of Fourier series. The classical results on the absolute summability of Fourier series are the

following three conclusions (cf . [ 4 , pp . 240 - 242 ] , [5 ] and [6 , p . 273 ]) :

(i) (Bernstein) 　If f ∈Lipαforα> 1/ 2 , then its Fourier series is absolutely convergent ;

(ii) (Zygmund) 　If f is of bounded varation and f ∈Lipαforα> 0 , then its Fourier series is ab2
solutely convergent ;

(iii) (Bosanquet) 　If f is of bounded variation , then its Fourier series is absolutely summable by

Cesáro methods of any positive order.

The conclusion of the theorem of this paper is only partly the analogue of Bosanquet′s result . It is

interesting to consider the complete analogues of the previous (i) , (ii) and (iii) to Bernstein polynomi2
als. It is conjectured that the best conclusion corresponding to Bosanquet′s result (iii) would be that“if

f is of bounded variation on [ 0 , 1 ] , then the sequence of its Bernstein polynomials is absolutely

summable by Cesáro methods | C ,α| for anyα> 1/ 2”.
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关于 Bernstein多项式的绝对收敛性

李 中 凯
(首都师范大学数学系 , 北京 100037)

摘　要

该文研究 Bernstein多项式的绝对收敛性.证明了 ,对每个 x ∈[0 ,1 ] , 一个有界变
差函数的 Bernstein多项式序列是绝对| C ,1| 可和的 ,而且给出了 Berstein多项式序列
的绝对| C ,1| 和式的余项的估计.
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